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	11.	 Edible oil molecules contain carbon to carbon double bonds that can undergo addition 
reactions with iodine. 

The iodine number of an oil is the mass of iodine, in grams, that will react with 100 g of the 
oil.

Which line in the table shows the oil that is likely to have the lowest melting point?

Oil Iodine number

A corn 123

B linseed 179

C olive   81

D soya 130

	12.	 Dehydration is the removal of water from a single molecule.

Dehydration of butan-2-ol can produce two isomeric alkenes, but-1-ene and but-2-ene, as 
shown.
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Which of the following alcohols can also produce, on dehydration, two isomeric alkenes?

A	 Propan-2-ol

B	 Pentan-3-ol

C	 Hexan-3-ol

D	 Heptan-4-ol


